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Only charged particles, no ECals nor CAMERA

- iBestCoralPrimaryVertex()
- iMuPrime(false, true, true, true, 15)
- is_good_primary_vertex()

Physics Triggers :
- PointsToXX() (build using PointsHodoscope())
trigger bit=1
and mu’ in acceptance of corresponding hodoscope planes

Kinematical cuts :
-102Q%221
-0.05<y<0.9
-w?2 > 25
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+/-DIS =0.99
+/- Excl =0.96

+/-DIS =1.00 +/-DIS =0.94  +/-DIS =0.89
+/-Excl =0.96 +/-Excl =0.95  +/-Excl =0.89
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Conclusions

- New production of p7 has good mu+/mu- ratio for DIS and Excl.-p

- Same patterns in the diffracted muon hitplots
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